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ÿoˆÁTˆEı YÁPˆy‘] (B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á (Term End Examination) 

◊Qˆ„a∂ëˆÃ[˝, 2014 C L«X, 2015 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

\…ˆ„GÁ_ ( Geography ) 
 (◊•Tˆ›Ã^ Yy f \…ˆ◊]Ã[˝÷Y GPˆXEıÁÃ[˝› Y“◊y‘Ã^Á) 
(2nd Paper : Landform Processes) 

a]Ã^  f ªV«c˜O H∞RÙOÁ Y…SÔ]ÁX  f 50 
Time : 2 Hours Full Marks : 50 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
(Weightage of Marks : 70%) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

◊[˝\ˆÁG - Eı 
1* Â^ ÂEıÁX V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 10 × 2 = 20 
 (Eı) %Á[˝c˜◊[˝EıÁ„Ã[˝Ã[˝ aep˚Á ◊VX* %Á[˝c˜◊[˝EıÁ„Ã[˝Ã[˝ ◊XÃ^‹óˆEı 

◊[˝bÃ^a]…c˜ ◊Eı ◊Eı ? 
 (F) ◊[˝p˚ÁX› ÂL. ◊ªRÙO. c˜ÓÁEı ◊X„V¤≈◊`Tˆ G◊Tˆ`›_ \ˆÁÃ[˝aÁ]Ó 

Tˆ„√º¯Ã[˝ ]…_ ◊[˝bÃ^[˝ÿô«ˆ ◊Eı ? Ac˜O Tˆ√º¯„Eı AEı =XΩΔN˛ 
Y“SÁ_› ◊c˜aÁ„[˝ W Ã̋[˝Á c Ã̃^ ÂEıX ? 

 (G) ◊c˜][˝Á„c˜Ã[˝ aep˚Á ◊VX A[˝e AÃ[˝ Y“\ˆÁ„[˝ a rÙ l˘Ã^LÁTˆ 
\…ˆ◊]Ã[˝÷Y a]…„c Ã̃[˝ ◊[˝[˝Ã[˝S ◊VX* 

 (H) ]Ã[˝” %á˚„_Ã[˝ È[˝◊`rÙÓm◊_ ◊Eı ◊Eı ? Ac˜O Y“ÁE ı◊TˆEı 

%á˚„_ [˝ÁÃ^«Ã[˝ EıÁ„^ÔÃ[˝ Zı„_ a rÙ È[˝◊`rÙÓ]…_Eı 
\…ˆ◊]Ã[˝÷Ym◊_ [˝ÓÁFÓÁ EıÃ[˝”X* 

◊[˝\ˆÁG - F 

2* Â^ ÂEıÁX ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 3 = 18 

 (Eı) Y«◊tTˆ l˘„Ã^Ã[˝ ◊[˝◊\ˆ~ Y“◊y‘Ã^Ám◊_ ◊Eı ◊Eı ? 

 (F) TˆÁYL◊XTˆ ^Á◊‹óˆEı %Á[˝c˜◊[˝EıÁ„Ã[ Ã̋[˝ Y“◊y‘Ã^Ám◊_ ◊Eı 

◊Eı ? 

 (G) %X«[˝Tˆfi C YÃ[˝[˝Tˆfi XV› a+„EÔı W˝ÁÃ[˝SÁ [˝ÓN˛ EıÃ[˝”X* 

 (H) G◊Tˆ`›_ \ˆÁÃ[˝aÁ]Ó %[˝ÿö̂ Á EıÁ„Eı [˝„_ ? 

 (I¯) ◊c˜][˝Á„c˜Ã[˝ l˘Ã^ EıÁ„^Ô %[˝HbÔS C =dYÁªRÙO„XÃ[˝ ]„W˝Ó 

YÁUÔEıÓ ◊Eı ? 

 (ªJÙ) =YE…ı_ %á˚„_ [˝Á◊_Ã^Á◊QÕˆ ◊Eı\ˆÁ„[˝ a rÙ c Ã̃^ ? 

◊[˝\ˆÁG - G 

3* Â^ ÂEıÁX ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 3 × 4 = 12 

 (Eı) Q«ˆÓ◊Ã[˝y‘Á∫RÙO EıÁ„Eı [˝„_ ? 

 (F) ªJ«ÙXÁYÁUÃ[˝ %á˚„_ V–[˝S Y“◊y‘Ã^ÁÃ[˝ Y“ÁW˝ÁXÓ ÂEıX ? 

 (G) %[˝ïıÃ[˝ Y“[˝Ác˜ ◊Eı ? 

 (H) XV›Ã[˝ =¨JÙ Y“[˝Á„c˜ ◊Eı\ˆÁ„[˝ l˘Ã[˝‰ÿÉˆÁ„TˆÃ[˝ a ◊rÙ c Ã̃^ ? 

 (I¯) ªy‘ÓÁG C ÊªRÙO_ EıÁ„Eı [˝„_ ? 

 (ªJÙ) Y“[˝Á_ Y“ÁªJÙ›Ã[˝ ◊Eı ? 

 (ªK˜) Â^Ï◊GEı =YE…ı„_Ã[˝ È[˝◊`rÙÓ ◊Eı ? 

 (L) ∫RÙOÓÁ_ÁG]Ác˜OªRÙO EıÁ„Eı [˝„_ ? 
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Group – A 

1. Answer any two questions : 10 × 2 = 20 

 a) Give the definition of weathering. What are 

the controlling factors of weathering ? 

 b) What is the core concept of Dynamic 

Equilibrium theory as proposed by scientist 

J. T. Hack ? Why is this concept considered 

as an open system ? 

 c) Give the definition of a glacier and describe 

the landform features produced by its 

process of erosion.  

 d) What are the characteristic features of an 

arid region ? Examine the characteristic 

aeolian features produced in this natural 

region.  

Group – B 

2. Answer any three questions : 6 × 3 = 18 

 a) What are the different processes of mass 

wasting ? 

 b) What are the different processes of thermal 

mechanical weathering ? 

 c) Give the idea of consequent and 

subsequent rivers. 

 d) What is dynamic equilibrium ? 

 e) Distinguish between abrasion and plucking 

in glacial erosional process. 

 f) How are the sand dunes formed in coastal 

area ? 

Group – C 

3. Answer any four of the following : 3 × 4 = 12 

 a) What is duricrust ? 

 b) Why solution process is dominant in 

limestone regions ? 

 c) What is debris avalanche ? 

 d) How do the rapids are formed in the upper 

coarse of the river ? 

 e) What are crag and tail ? 

 f) What is coral reef ? 

 g) What is the characteristic feature of a 

compound coast ? 

 h) What is stalagmite ? 

    


